=10°

1/o;do/dg

Ratio to DO
[N

0.5

1960 GeV ppbar Z (Drell-Yan)

=+ [ | I I I T T TTT | I I I T T TTT —l:ﬂ
— = C
— * Jo
~ @ (electron channel, 1 < |3£| <2) 13
n
- _|=
= =M
o =~
— — ANl
D P o
= —
= 3o
— —o
= -2
- __|x
= =)
— — ™M
— <
o™
— =0
— — 0‘_f|)
~ = DO :i
= --13-- Herwig 7.0.3 default =&
— —o— MadGraph5 2.7.2.atlas3 lo — =
— —&— Pythia 8.301 default c
= ¢ Sherpa 2.2.0 default 3
— dwm
N mie
o
gI I I I | | | I I | | | I I I | | | Ig E
:I T T T LI | T T T T T LI | T T T T T LI | T T I:
— -2
1
| 0.5




	Contents
	Page 1


